DIN 69893-A
DAMPING TOOLS

fE fe i ¥z 71 B % 51
CNC TOOL SYSTEMS



®
<5 O-N-W 15 A

-THRRIMIEZETIHF DAMPING TURNING TOOL HOLDER

ST00L ONIdWvYa

i 55 2 <1

\
/

TIMFER REMER eI
DCON1 DCON CARTRIDGE

SD16-C16-156V 16 16 156 G1/8.. 7 SD16 1 0.2
-204VE 16 16 204 G1/8.. 10 SD16 1 0.5
SD20-C20-200V 20 20 200 G1/4.. 7 SD20 1 0.4
-260VE 20 20 260 G1/4.. 10 SD20 1 0.8

SD25-C25-255V 25 25 255 G1/4.. 7 SD25 1 1
-330VE 25 25 330 G1/4.. 10 SD25 1 1.3

-380VE 25 25 380 G1/8.. 12 SD25 1 2
-430VE 25 25 430 G1/8.. 14 SD25 1 2.6

SD32- C32-320V 32 32 320 G3/8.. 7 SD32 1 21
-416V 32 32 416 G3/8.. 10 SD32 1 2.8
-480VE 32 32 480 G1/4.. 12 SD32 1 4.2
-544VE 32 32 544 G1/4.. 14 SD32 1 4.8
SD40-C40-408V 40 40 408 G1/2.. 7 SD40 2 4.6
-528V 40 40 528 G1/2.. 10 SD40 2 5.3
-608VE 40 40 608 G3/8.. 12 SD40 2 8.3
-688VE 40 40 688 G3/8.. 14 SD40 2 9.4

U 598
? IhaefLsS Mark
K Length
TI#FE 1R Diameter

1&H2 773k Cartridge




®
BT A <5 O-N-W

AR BIRETIHF DAMPING TURNING TOOL HOLDER

>

o
>
=
=
=z
o
j
(=}
o
=
"

2]
=
i
i
7
B

\
/

THFER ZEEER SET WIS
DCON1 DCON CARTRIDGE
SD40-C50-518V 50 40 518 G1/2.. 7 SD40 7.2
-668V 50 40 668 G1/2.. 10 SD40 9.3
-768VE 50 40 768 G1/2.. 12 SD40 14.4
-868VE 50 40 868 G1/2.. 14 SD40 16.6
AR RA:

y IEeK S Mark
K E Length

JIFFE 1R Diameter
&R 7]k Cartridge



®
<5 O-N-W 15 A

-FARRBIRETIHF DAMPING TURNING TOOL HOLDER

B
Bz
A2
=2
e
=

¥ f

. | DCON{

" i

LF

THFER ZEEER BECT] sk
DCONT1 DCON CARTRIDGE
SD40-C60-628V 60 40 628 G3/4.. 7 SD40 12.5
-808V 60 40 808 G3/4.. 10 SD40 16.3
-920VE 60 40 920 G3/4.. 12 SD40 27.
-1040VE 60 40 1040 G3/4.. 14 SD40 30.9
A5 ER:

? IEER S Mark
KE Length
TI¥FE 1 Diameter

J&EFEZ 7]k Cartridge




®
BT A <5 O-N-W

AR BIRETIHF DAMPING TURNING TOOL HOLDER

>

o
>
=
=
=z
o
j
(=}
o
=
"

2]
=
i
i
7
B

\
/

CNT

ﬁ
DCONT1
v

LF

o LB
NHER  REEEE S IE]
DCON1 DCON CARTRIDGE
SD80-C80-880V 80 80 880 G3/4.. 7 SD80 31.8
-1200V 80 80 1200 G3/4.. 10 SD80 52.3
-1240VE 80 80 1240 G3/4.. 12 SD80 50
-1400VE 80 80 1400 G3/4.. 14 SD80 63
ARSI ER:

SDSO - EEl y
IHREL S Mark
KE Length
7]

FFE4R Diameter
3&H2 7]k cartridge



5 0-Nw®

B Em#IIR

- B e ik % % 7] #F

DAMPING TURNING TOOL HOLDER

LF

>

ST00L ONIdWvYa

i 55 2 <1

\
/

® JIXFHERM
THFER ZREER KE EAAES
DCONT DCON LF CARTRIDGE
SD80-C100-1100V 100 80 1100 G3/4.. 7 SD80 63.4
-1500V 100 80 1500 G3/4.. 10 SD80 86.8
-C120-1900V-R/L 120 80 1900 G3/4.. 10 SD80 134
-C130-2000V-R/L 130 80 2000 G3/4.. 10 SD80 192.3
-C140-2200V-R/L 140 80 2200 G3/4.. 10 SD80 241.5
-C150-2400V-R/L 150 80 2400 G3/4.. 10 SD80 252.6
-C160-2600V-R/L 160 80 2600 G3/4.. 10 SD80 339.3
-C180-2800V-R/L 180 80 2800 G3/4.. 10 sD80 458.2
-C200-3200V-R/L 200 80 3200 G3/4.. 10 SD80 657.7
-C220-3450V-R/L 220 80 3450 G1.. 10 SD80 1059.3
-C250-4000V-R/L 250 80 4000 G1.. 10 SD80 1229

AR RA:

SDSOJB - ?
T4

Al /£ Right/Left

ELS Mark

E Length

JIFFE 1R Diameter
1EBEJJ3k Cartridge




®
JE/E 17T A <5 O-N-W

-FHREIMIRZEJIHF DAMPING TURNING TOOL HOLDER

>

o
>
=
=
=z
[}
j
o
o
=
0

2]
=
i
i
7
1=t

LF

° NLBESY
JHFER ZEHER N &Efe ]k
DCON1 DCON LF CARTRIDGE
SD80-C100-1560VE 100 80 1560 G3/4.. 12 SD80 117.6
-1760VE 100 80 1760 G3/4.. 14 SD80 133.3
-C120-1870VE-R/L 120 80 1870 G3/4.. 12 SD80 215.7
-2110VE-R/L 120 80 2110 G3/4.. 14 SD80 248.6
-C130-2030VE-R/L 130 80 2030 G3/4.. 12 SD80 271.4
-2290VE-R/L 130 80 2290 G3/4.. 14 SD80 312.3
-C140-2190VE-R/L 140 80 2190 G3/4.. 12 SD80 336.7
-2470VE-R/L 140 80 2470 G3/4.. 14 SD80 386.8
-C150-2350VE-R/L 150 80 2350 G3/4.. 12 SD80 397.2
-2650VE-R/L 150 80 2650 G3/4.. 14 SD80 472.4
-C160-2510VE-R/L 160 80 2510 G3/4.. 12 SD80 4975
-2830VE-R/L 160 80 2830 G3/4.. 14 SD80 571.2
-C180-2830VE-R/L 180 80 2830 G3/4.. 12 SD80 559.7
-3190VE-R/L 180 80 3190 G3/4.. 14 SD80 642.6
-C200-3150VE-R/L 200 80 3150 G3/4.. 12 SD80 621.9
-3550VE-R/L 200 80 3550 G3/4.. 14 SD80 714.3
-C220-3470VE-R/L 220 80 3470 G3/4.. 12 SD80 684.1
-3910VE-R/L 220 80 3910 G3/4.. 14 SD80 785.7
-€250-3950VE-R/L 250 80 3950 G3/4.. 12 SD80 777.4
-4450VE-R/L 250 80 4450 G3/4.. 14 SD80 892.8
AR LRA:

SD8OJ . B- q!
A/ 7z Right/Left
IhEEHS Mark
K E Length
JJME4R Diameter
J&EART]3k Cartridge



5 0-Nw®

-IE® 95°IE¥ ]k

B Em#IIR

POSITIVE TYPE 95° BORING

2
4
2
KAPR ?ﬁ 2
F > £
W > =}
[ e
\
LF :
DCON
qS KE ZEEBER == \AY;i} BE RE ya)ay =
Model LF DCON WF DMIN KARP Insert KG
SD16-SCLCR-06 20 16 11 20 95° CC**0602** 0.03
SD20-SCLCR-09 20 20 13 25 95° CC**Q9T3** 0.05
SD25-SCLCR-09 20 25 17 32 95° CC**09T3** 0.07
SD32-SCLCR-09 32 32 22 40 95° CC**09T3** 0.13
SD40-SCLCR-12 38 40 27 50 95° CC**1204** 0.24
SD16-SCLCL-06 20 16 11 20 95° CC**0602** 0.03
SD20-SCLCL-09 20 20 13 25 95° CC**09T3** 0.05
SD25-SCLCL-09 20 25 17 32 95° CC**09T3** 0.07
SD32-SCLCL-09 32 32 22 40 95° CC**Q9T3** 0.13
SD40-SCLCL-12 38 40 27 50 95° CC**1204** 0.24

&

SPARE PARTS

B screw  REEF JIES NBigE PEC I
Wrench Shim Sleeve for shim Allen key for shim Locating pin
SD16-SCLCR/L-06 SR21-M2.5*0.45P*5 T8 = = = D4-3*7
SD20-SCLCR/L-09 SR21-M4*0.7P*9 T15 = = = D6-5*8
SD25 SCLCR/L-09 SR21-M4*0.7P*9 T15 = = = D6-5*9
SD32 SCLCR/L-09 SR21-M4*0.7P*9 T15 = = = D6-5*11
SD40 SCLCR/L-12 SR21-M5*0.8P*12 T20 ST01-CC12*2.8 | SRT-M7-M5*13 KEY01-M3 D6-5*11

AR RA:

QIIH‘ Insert

/% Right/Left

I IhgeS Mark

iEABRJJ3k Cartridge




®
BT A <5 O-N-W

-IEB 93° F ¥ JIsL POSITIVE TYPE 93° BORING

>

o
>
=
=
=z
o
j
(=}
o
=
"

2]
=
i
i
7
1=t

BS KE TRHABR thibiE SCE RE e EE

Model LF DCON WF DMIN KARP Insert KG
SD16-SDUCR-07 20 16 11 20 93° DC**0702** 0.03
SD20-SDUCR-11 20 20 13 25 93° DC**11T3** 0.05
SD25-SDUCR-11 20 25 17 32 93° DC**11T3** 0.07
SD32-SDUCR-11 32 32 22 40 93° DC**11T3** 013
SD40-SDUCR-11 32 40 27 50 93° DC**11T3** 0.2
SD16-SDUCL-07 20 16 11 20 93° DC**0702** 0.03
SD20-SDUCL-11 20 20 13 25 93° DC**11T3** 0.05
SD25-SDUCL-11 20 25 17 32 93° DC**11T3** 0.07
SD32-SDUCL-11 32 32 22 40 93° DC**11T3** 013
SD40-SDUCL-11 32 40 27 50 93° DC**11T3** 0.2

° §1¢ SPARE PARTS

W screw  EEF E? PET S NERFE  EH
Wrench Shim Sleeve for shim Allen key for shim Locating pin
SD16-SDUCR/L-07 SR21-M2.5*0.45P*5 T8 = = = D4-3*7
SD20-SDUCR/L-11 SR21-M4*0.7P*11 T15 = = = D6-5*8
SD25-SDUCR/L-11 SR21-M4*0.7P*11 T15 = = = D6-5*9
SD32-SDUCR/L-11 SR21-M4*0.7P*11 T15 ST01-CC11*2.82 | SRT-M6-M4*6.9 KEYO01-M4 D6-5*11
SD40-SDUCR/L-11 SR21-M4*0.7P*11 T15 ST01-CC11*2.82 | SRT-M6-M4*6.9 KEYO01-M4 D6-5*11
A& ER:

@HH‘ Insert
/7 Right/Left
IhEEK S Mark

JEABZJJ3k Cartridge



®
<+ O-N-W R TA
-IER 93°F$E{(AAC J] 3k POSITIVE TYPE 93° BORING AND PROFILE-TURNING

WF
KAPR A‘

LF |

i 55 2 <1

ST00L ONIdWvYa

\
/

RE LREERE  POME il
LF DCON WF Insert
SD20-SVUCR-11 20 20 15 27 B E VC**1103** 0.05
SD25-SVUCR-11 20 25 18 33 B E VC**1103** 0.06
SD20-SVUCL-11 20 20 15 27 93 E VC**1103** 0.05
SD25-SVUCL-11 20 25 18 33 93 E VC**1103** 0.06

° §1¢ SPARE PARTS

#E Model 2% Screw JERIRFE Wrench EAIHH Locating pin
SD20-SVUCR/L-11 SR21-M2.5%0.45P*6 T8 D6-5*8
SD25-SVUCR/L-11 SR21-M2.5*0.45P*6 T8 D6-5*9

KA 5 ER:

? ? JIE Insert
A /% Right/Left
Ih

BEFLS Mark
1&EABEJJ3k Cartridge




BEmHEIIR

5 O0-N-w®

>

o
>
=<
=
=
)
=
)
o
=
»

2]
=
i
i
7
B

-IEB 95°1E##{AA2J] 3k

POSITIVE TYPE 95° BORING AND PROFILE-TURNING

WF e
KAPR
(&)
LF

.3

DCON
BS KE ZEEER i SBE RE yilay B
Model LF DCON WF DMIN KARP Insert KG
SD32-SVLBR-16 32 32 22 40 95 [ VC**1604** 013
SD40-SVLBR-16 32 40 27 50 95 £ VC**1604** 019
SD32-SVLBL-16 32 32 22 40 95 £ VC**1604** 013
SD40-SVLBL-16 32 40 27 50 95 £ VC**1604** 019

° §1¢ SPARE

PARTS

B screw  REEF JIE PET TS TEIRF A

— Wrench Shim Sleeve for shim  Allen key for shim Locating pin
SD32-SVLBR/L-16 SR21-M4*0.7P*11 T15 ST01-CC16*2.82 | SRT-M6-M4*6.9 KEY01-M4 D6-5*11
SD40-SVLBR/L-16 SR21-M4*0.7P*11 T15 ST01-CC16*2.82 | SRT-M6-M4*6.9 KEY01-M4 D6-5*11

AL ER:

I IhgeS Mark

i&EARJJ3k Cartridge

@7])# Insert

/% Right/Left



®
<5 O-N-W 15 A

JEB 62.5°F 2 J] 5k POSITIVE TYPE 62.5° PROFILE-TURNING

iz}

k— WF —> g

oy WF ;J%%

KAPR o

o

7e

T &) | i1
DCON

ms KE REEEE . o, PLE B A Nk &8
Model LF DCON WF DMIN KARP Insert KG
SD16-SDXCR-07 15 16 18.8 13 22 62.5° DC**0702** 0.03
SD20-SDXCR-07 15 20 18.8 15 27 62.5° DC**0702** 0.04
SD25-SDXCR-07 15 25 18.8 18 33 62.5° DC**0702** 0.06
SD32-SDXCR-11 20 32 28 22 40 62.5° DC**11T3** 0.12
SD40-SDXCR-11 20 40 28 27 50 62.5° DC**11T3** 0.18
SD16-SDXCL-07 15 16 18.8 13 22 62.5° DC**0702** 0.03
SD20-SDXCL-07 15 20 18.8 15 27 62.5° DC**0702** 0.04
SD25-SDXCL-07 15 25 18.8 18 33 62.5° DC**0702** 0.06
SD32-SDXCL-11 20 32 28 22 40 62.5° DC**11T3** 012
SD40-SDXCL-11 20 40 28 27 50 62.5° DC**11T3** 018

° §1¢ SPARE PARTS

B screw  EEF PET TS TBIRF FEfir
— Wrench Sleeve for shim Allen key for shim Locating pin
SD16-SDXCR/L-07 SR21-M2.5*0.45P*5 T8 = = = D4-3*7
SD20-SDXCR/L-07 SR21-M2.5*0.45P*5 T8 = = = D6-5*8
SD25-SDXCR/L-07 SR21-M2.5*0.45P*5 T8 - - = D6-5*9
SD32-SDXCR/L-11 SR21-M4*0.7P*11 T15 ST01-CC11*2.82 | SRT-M6-M4*6.9 KEYO01-M4 D6-5*11
SD40-SDXCR/L-11 SR21-M4*0.7P*11 T15 STO01-CC11*2.82 | SRT-M6-M4*6.9 KEYO1-M4 D6-5%11
FA& I ER:
mﬂ}# Insert
/% Right/Left
IEER S Mark

JEBZJJ3k Cartridge




BEmHEIIR

-IEB 93° Rk

A POSITIVE TYPE 93° BACK BORING
¥
= <« WF —
3 3;)% > ;
o
& KAPR /o / |
1=t v | \
LPR * |
J LiF
DCON
ne KE REEEE o, POE 0E i K ET
Model LF DCON WF DMIN KARP Insert KG
SD16-SDZCR-07 15 16 26.6 13 22 93° DC**0702** 0.03
SD20-SDZCR-07 15 20 26.6 15 27 93° DC**0702** 0.05
SD25-SDZCR-07 15 25 26.6 18 333 93° DC**0702** 0.06
SD32-SDZCR-11 20 32 37 22 40 93° DC**11T3** 0.14
SD40-SDZCR-11 20 40 37 27 50 93° DC**11T3** 0.22
SD16-SDZCL-07 15 16 26.6 13 22 93° DC**0702** 0.03
SD20-SDZCL-07 15 20 26.6 15 27 93° DC**0702** 0.05
SD25-SDZCL-07 15 25 26.6 18 33 93° DC**0702** 0.06
SD32-SDZCL-11 20 32 37 22 40 93° DC**11T3** 0.14
SD40-SDZCL-11 20 40 37 27 50 93° DC**11T3** 0.22

&

SPARE PARTS

ERIRF
Wrench

paE:
Shim

TIREE
Sleeve for shim

TIBRF EfIH
Allen key for shim Locating pin

1222 Screw

SD16-SDZCR/L-07 SR21-M2.5*0.45P*5 T8 = = = D4-3*7
SD20-SDZCR/L-07 SR21-M2.5*0.45P*5 T8 = = = D6-5*8
SD25-SDZCR/L-07 SR21-M2.5*0.45P*5 T8 = = = D6-5%9
SD32-SDZCR/L-11 SR21-M4*0.7P*11 T15 ST01-CC11*2.82 | SRT-M6-M4*6.9 KEY01-M4 D6-5*11
SD40-SDZCR/L-11 SR21-M4*0.7P*11 T15 ST01-CC11*2.82 | SRT-M6-M4*6.9 KEY01-M4 D6-5*11

ARSI ER:

mj})—# Insert
/% Right/Left
IEER S Mark

1EABZJJ3k Cartridge



®
<5 O-N-W 15 A

° IE?Ej 91 OIEﬁJJ % POSITIVE TYPE 91° PROFILE-TURNING

A
iE] 2
“KAPR %
il it
©F | R’
LF |
| |
=
DCON
RS KE REMAER LME WF SEE RE by =
Model LF DCON DMIN KARP Insert (€]
SD16-STFCR-09 20 16 11 20 91° TC**0902** 0.03
SD16-STFCR-11 20 16 11 20 91° TC**1102** 0.03
SD20-STFCR-11 20 20 13 25 91° TC**1102** 0.04
SD25-STFCR-11 20 25 17 32 91° TC**1102** 0.06
SD32-STFCR-16 32 32 22 40 91° TC**16T3** 0.14
SD40-STFCR-16 32 40 27 50 91° TC**16T3** 0.21
SD16-STFCL-09 20 16 11 20 91° TC**0902** 0.03
SD16-STFCL-11 20 16 11 20 91° TC**1102** 0.03
SD20-STFCL-11 20 20 13 25 91° TC**1102** 0.04
SD25-STFCL-11 20 25 17 32 91° TC**1102** 0.06
SD32-STFCL-16 32 32 22 40 91° TC**16T3** 0.14
SD40-STFCL-16 32 40 27 50 91° TC**16T3** 0.21
° §ﬁ= SPARE PARTS
#E Model 2% Screw JERIRFE Wrench EAIHH Locating pin
SD16-STFCR/L-09 SR21-M2.2*0.45P*5.5 T7 D4-3*7
SD16-STFCR/L-11 SR21-M2.5*0.45P*6 T8 D4-3*7
SD20-STFCR/L-11 SR21-M2.5*0.45P*6 T8 D6-5*8
SD25-STFCR/L-11 SR21-M2.5*0.45P*6 T8 D6-5*9
SD32-STFCR/L-16 SR21-M4*0.7P*9.5 T15 D6-5*11
SD40-STFCR/L-16 SR21-M4*0.7P*9.5 T15 D6-5*11

AR RA:

T @I}H‘ Insert
/% Right/Left
Ih8

BEXS Mark
J&fCJI3k Cartridge




5 O0-N-w®

'Jﬁ\ﬂ 95°IE%EI|§E NEGATIVE TYPE 91° PROFILE-TURNING

>

o
>
=
=
=z
o
j
(=}
o
=
"

2]
=
i
i
7
B

\
/

|
|
|
L
DCON

[T
=
KAPR
Y
LF
Bs ZRHEER N BE BE AR £
Model LF DCON P WF DMIN KARP Insert KG
SD32-DWLNR-06T 32 32 22 40 95 E WN**0604** 0.1
SD32-DWLNR-08T 36 32 24 46 95 E WN**0804** 012
SD40-DWLNR-08T 36 40 27 50 95 E WN**0804** 0.23
SD32-DWLNL-06T 32 32 22 40 95 E WN**0604** 0.1
-08T 36 32 24 46 95 E WN**0804** 012
SD40-DWLNL-08T 36 40 27 50 95 E WN**0804** 0.23

‘ §1¢ SPARE PARTS

ERR EfREE FEARIZET Ak ERIRF TBGREE]  TIBRF  EUH

Clamping pad  Spring for clampin pad Screw for clampin pad Shim Allen key for clampin pad Clamping screw for shim Allen key for shim Locating pin
SD32-DWLNR/L-06T | PB10ODDN11 YH7*0.6*13 SR59M4*16 STOTWNO06*3.18 KEY01-M2.5 SR20-M4*0.7P*9.5 KEY02-T15 D6-5*11
SD32-DWLNR/L-08T | PB1ODCN12 YH8*0.6*13 SR59M5*20 STOTWNO08*3.18 KEY01-M3 SR20-M5*0.8P*10 KEY02-T20 D6-5*11
SD40-DWLNR/L-08T | PB10DCN12 YH8*0.6*13 SR59M5*20 STOTWNO08*6.35 KEY01-M3 SR20-M4*0.7P*9.5 KEY02-T15 D6-5*11

AR RA:

gﬂﬁ Insert
/7 Right/Left
IRES Mark

J&fDTI3k cartridge



DAMPING

® PING
<5 O-N-W BEFTA [

-IER 93° R $E(AR J) 3k POSITIVE TYPE 93° BACK BORING PROFILE-TURNING

A
i
%WFﬂ %%
DMIN =z
: /’/ B ;’%g
| /» ~. g°
KAPR & | p o 1=1
LPR T i L ON |
LF '
\ O O /
l \. /
\‘ /'
DCON T

ZEREER K 2Tyl SBE RE

DCON WF DMIN KARP W TS
SD20-SVUCR-11 15 20 27 20 32 93° VC*1103* | 0.05
SD25-SVUCR-11 15 25 27 22 37 93° vC*1103* | 0.08
$D20-SVUCL-11 15 20 27 20 32 93° VC*1103* | 0.05
SD25-SVUCL-11 15 25 27 22 37 93° VC*1103* | 0.08

° §1¢ SPARE PARTS

S Model 1242 Screw AR F Wrench Efu$H Locating pin
SD20-SVUCR/L-11 SR20-M2.5*0.45P*6 T8 D6-5*8
SD25-SVUCR/L-11 SR20-M2.5*0.45P*6 T8 D6-5*9

AL EA:
7])# Insert
/A Right/Left
IHREfLS Mark
J&EEZJJ3k Cartridge




®
BT A <5 O-N-W

-fi B 95°1F§¥ J] sk NEGATIVE TYPE 95° BORING

A
fE
iR "
2! KAPR
a ¥z = N
27 |
=t |
LF &
DCON
Be KE REFMERE  POME o fE TE T
Model LF DCON WEF DMIN KARP Insert (€]
SD32-DCLNR-12 38 32 22 40 95° CN**1204** 017
SD40-DCLNR-12 38 40 27 50 95° CN**1204** 0.22
SD40-DCLNR-16 40 40 32 57 95° CN**1606** 0.32
SD40-DCLNR-19 42 40 34 57 95¢° CN**1906** 0.33
SD32-DCLNL-12 38 32 22 40 95° CN**1204** 017
SD40-DCLNL-12 38 40 27 50 95° CN**1204** 0.22
SD40-DCLNL-16 40 40 32 57 95 E CN**1606** 0.32
SD40-DCLNL-19 42 40 34 57 95 E CN**1906** 0.33

° §'1¢ SPARE PARTS

FEAR EARSHEE EARIRET Rk: ERIRF JEPREZET  TIRRF  EuE
Clamping pad  Spring for clampin pad Screw for clampin pad Shim Allen key for clampin pad Clamping screw for shim Allen key for shim Locating pin
SD32-DCLNR/L-12 | PBTODCN12 YH8*0.6*13 SR59M5*20 STOTCN12*3.2 KEY01-M3 SR20-M5*0.8P*10 KEY02-T20 D6-5*11
SD40-DCLNR/L-12 | PB10DCN12 YH8*0.6*13 SR59M5*20 STO1CN12*3.2 KEY01-M3 SR20-M5*0.8P*10 KEY02-T20 D6-5*11
SD40-DCLNR/L-16 | PB10DCN16 YH9*0.8*14 SR59M6*26.5 STO1CN16*3.2 KEY01-M4 = KEY02-T20 =

SD40-DCLNR/L-19 | PBT10ODCN19 = = - - - = =

AL ER:

@ J1F Insert
4 /7E Right/Left
IhgeS Mark

JEEZJIk Cartridge



5 0-Nw®

B Em#IIR

B 93°IF#{HAZ Ik

NEGATIVE TYPE 93° BORING AND PROFILE-TURNING

BE
WE IE
KAPR i
=2
J1e
A
LF
DCON
neS KE RREEE 2K BOE  BE RE . EE
Model LF DCON LPR WF DMIN KARP KG
SD40-DVUNR-16 20 40 38.5 34 56 93 & VN**1604** | 0.26
SD40-DVUNL-16 20 40 385 34 56 93 & VN**1604** | 0.26

‘ §1¢ SPARE PARTS

ERR

EfREE

FEARIZET

Pak:

ERIRF

TBPERZE]  TDRRF  ELHE

Clamping pad  Spring for clampin pad Screw for clampin pad

SD40-DVUNR/L-16| PB10DVN16

YH9*0.8*14

SR59M6*26.5

STOTVN16*3.2

Shim

KEY01-M4

SR20-M3.5*0.6P*8.5

KEY02-T10

Allen key for clampin pad Clamping screw for shim Allen key for shim Locating pin

D6-5*11

AL ER:

ﬁ/?_—f Right/Left
IEERS Mark

J&EEZJJ3k Cartridge

JIE Insert




®
BT A <5 O-N-W

‘ Jﬁ\ﬂ 93°Eiﬁﬁﬁ37] % NEGATIVE TYPE 93° BORING AND PROFILE-TURNING

o |)3§ : WF
>
[
: b5 KAPR
2 iR A
e 7]
=t %)
LF ‘
«— DCON
8IS KE R¥EER PO EE fE 1B Insert 2
Model LF DCON WF DMIN KARP (€]
SD32-DDUNR-11 32 32 22 40 93° DN**71104** 013
SD40-DDUNR-15 32 40 27 50 93° DN**1506** 0.21
SD32-DDUNL-11 32 32 22 40 93° DN**1104** 0.3
SD40-DDUNL-15 32 40 27 50 93° DN**1506** 0.21

° §1¢ SPARE PARTS

R B E FEARERET Pak: S ERIRF TIBHREBE] TIRRF  EMHE
Clamping pad  Spring for clampin pad Screw for clampin pad Shim Allen key for clampin pad Clamping screw for shim Allen key for shim Locating pin
SD32-DDUNR/L-11 | PB10DDN11 YH7*0.6*13 SR59M4*16 STOTDN11*3.18 KEY01-M2.5 SR21-M4*0.7P*9.5 | KEY02-T15 | D6-5*11
SD40-DDUNR/L-15| PB1ODCN12 YH8*0.6*13 SR59M5*20 STOTDN15*4.76 KEY01-M3 SR20-M4*0.7P*11.5 KEY02-T15 D6-5*11
> .
AR RA:

@ J1F Insert
4 /7 Right/Left
IhEeXS Mark

JEFZJISk Cartridge



DAMPING

® PING
<5 O-N-W BEFTA [

-JEBY o5° F $¥ J] 3L POSITIVE TYPE 95° BORING

A

i
» IZE
/ T —
i ne
3 /'/ 4‘ &
o | B ——
= |
\, / /
\ : /
\\ [ ,/
N — s
N L
DMIN /=
s KE ZREEREHRFE $0E SBE EBE RE by BE
Model LF DCON WF DMIN H KARP Insert KG
SD80-SCLCR-12 45 80 57 100 375 95° CC**1204** 0.55
SD80-SCLCL-12 45 80 57 100 37.5 95° CC**1204** 0.55

° g’#l: SPARE PARTS

EAR EAREE EARIRET PaE: ERIRF TIBGURIRET TIBIRF

Clamping pad Spring for clampin pad Screw for clampin pad Shim Allen key for clampin pad Clamping screw for shim  Allen key for shim

SD80-SCLCR/L-12 | PB1ODCN12 | YH8%0.6*13 SR59M5*20 [STOTCN12*3.2 KEYO1-M3 SR20-M5*0.8P*10 | KEY02-T20

AL ER:

SDSO - - @
JIE Insert
/A Right/Left
IEE S Mark

J&EZTJ3k Cartridge




®
BT A <5 O-N-W

-fi B 95°1F§¥ J] sk NEGATIVE TYPE 95° BORING

2
>
%ﬁz DNIN
g — WF .
g I - e
)| KAPR ~ N
e 7 i \
! / )
! / ‘ \\
‘ \ ]
LF ‘ / |
‘ = P L H
01 | [ ‘,\ ]! J
I ‘\ ; /,
DCON N y
N ~
i KE ZEREERF $MdE BE EE RaE ya)ay 5=
Model LF DCON WF BIVIIN H KARP Insert KG
SD80-DCLNR-12 45 80 57 100 375 95° CN**1204** 0.56
SD80-DCLNR-16 45 80 57 100 375 95° CN**1606** 0.6
SD80-DCLNL-12 45 80 57 100 375 95° CN**1204** 0.56
SD80-DCLNL-16 45 80 57 100 375 95° CN**1606** 0.6

° §1¢ SPARE PARTS

ER ERREE ERRIRET DAk ERIRF TIEGIRIRET TBRF

Clamping pad Spring for clampin pad Screw for clampin pad Shim Allen key for clampin pad  Clamping screw for shim  Allen key for shim

SD80-DCLNR/L-12 | PB1ODCN12 | YH8%*0.6*13 SR59M5*20 [STO1CN12*3.2 KEY01-M3 SR20-M5*0.8P*10 | KEY02-T20

SD80-DCLNR/L-16 | PB1ODCN16 | YH9*0.8*14 | SR59M6*26.5 |[STOTCN16*3.2 KEY01-M4 = KEY02-T20

AL ER:

SDSO® - - @
J1F Insert
/A Right/Left
IHEER S Mark

J&EEZJJ3k Cartridge



®
<5 O-N-W 15 A

‘ Jﬁ\ﬂ 93°Eiﬁﬁﬁ37] % NEGATIVE TYPE 93° BORING AND PROFILE-TURNING

i 55 2 <1

ST00L ONIdWvYa

=/
>
T
o
=
M

LF i
; \ /
DCON N /

N v
= KE ZREEEE $ME B EE RE yalay B=E
Model LF DCON WF DMIN H KARP Insert KG
SD80-DDUNR-15 45 80 57 100 375 93° DN**1506** 0.55
SD80-DDUNL-15 45 80 57 100 37.5 93° DN**1506** 0.55

° g’#l: SPARE PARTS

ER EiREE EARIRET DAk ERIRF TIBHUREZE] TIBIRF
Clamping pad  Spring for clampin pad Screw for clampin pad Shim Allen key for clampin pad  Clamping screw for shim  Allen key for shim
SD80-DDUNR/L-15X | PB10DCN12 YH8*0.6*13 SR59M5*20 STOTDN15*4.76 KEY01-M3 SR20-M4*0.7P*11.5 KEY02-T15
A .
FMABRA:

) - - - @
JIE Insert
/7 Right/Left

IhEES Mark
1EABZJJ3k Cartridge




®
BT A <5 O-N-W

A S
¢ ﬁ g! 930&%‘5’}9” * NEGATIVE TYPE 93° BACK BORING AND PROFILE-TURNING
2 — WF "~
2 Y
AN
| N
o ! \ [
KAPR % ‘ A
LPR /. H
LF i
l |
1 ) '/'
DCON N P
8= KE ZEREEE &K ==111AY;:5) SBE EBE ARE kR £
Model LF DCON LPR WF DMIN H KARP Insert KG
SD80-DDUNR-15X 20 80 45 57 100 37.5 93° DN**1506** 0.55
SD80-DDUNL-15X 20 80 45 57 100 37.5 93° DN**1506** 0.55

° §1¢ SPARE PARTS

ERR EfREE ERRIRET WAk ERIRF TIBGREET T BARF
Clamping pad  Spring for clampin pad Screw for clampin pad Shim Allen key for clampin pad  Clamping screw for shim Allen key for shim
SD80-DDUNR/L-15X | PB10DCN12 YH8*0.6*13 SR59M5*20 STO1DN15*4.76 KEY01-M3 SR20-M4*0.7P*11.5 KEY02-T15
A .
FMABRA:

SDSO B - - [F
JIE Insert
/7 Right/Left
The

BEFLS Mark
1&EABZJJ3k Cartridge



®
<5 O-N-W 15 A

A S
° ﬁ g! 62 . soﬁﬂ‘ﬁﬂ * NEGATIVE TYPE 62.5° BORING AND PROFILE-TURNING
i
ez
KAPR ]
= |
LPR | ‘
LF [
J | I \ |
DCON \ /
\ /
N - /'/
A= KE ZEEER 2K =Yl SBE EBE RE ya)ay BE
Model LF DCON LPR WF DMIN H KARP Insert KG
SD80-DDXNR-15 25 80 40.3 57 100 375 62.5 DN**1506** 0.5
SD80-DDXNL-15 25 80 40.3 57 100 375 62.5 DN**1506** 0.5

° §'1¢ SPARE PARTS

FERR EAREE FEARIZET VA ERIRF TIBPUERIRET TIBIRF
Clamping pad  Spring for clampin pad Screw for clampin pad Shim Allen key for clampin pad  Clamping screw for shim  Allen key for shim
SD80-DDXNR/L-15 PB10ODCN12 YH8*0.6*13 SR59M5*20 STOTDN15*4.76 KEY01-M3 SR20-M4*0.7P*11.5 KEY02-T15
At .
LR

SDSO|E - - @
JIH Insert
4/ Right/Left

INEES Mark
1&EABEJJ3k Cartridge




®
BT A <5 O-N-W

° ﬁ g! 930&@%%” % NEGATIVE TYPE 93° BACK BORING AND PROFILE-TURNING

o
>
=
=
=z
o
j
(=}
o
=
"

2]
=
i
i
7
B

WF |
.
~ \\~
! \
o | 3
KAPR o | \ T
LPR jf— i LF
LF k
| | j | /! l
} 7
\ /
DCON . .
~ -
BS KE ZERER 2K thitME SEE EE RE il 58
Model LF DCON LPR WF DMIN H KARP Insert KG
SD80-DVUNR-16X 20 80 45 64 100 37.5 93° VN**1604** 0.55
SD80-DVUNL-16X 20 80 45 64 100 37.5 93° VN**1604** 0.55

° §'1¢ SPARE PARTS

R EARHEE EARIRET Rk ERIRF TIEPUIRIRET TBIRF
Clamping pad  Spring for clampin pad Screw for clampin pad Shim Allen key for clampin pad  Clamping screw for shim  Allen key for shim
SD80-DVUNR/L-16X PB10DVN16 YH9*0.8*14 SR59M6*26.5 STOTVN16*3.2 KEY01-M4 SR20-M3.5*0.6P*8.5 KEY02-T10
At .
LR

SDSO|E - - @
J1F Insert
/7 Right/Left

IEER S Mark
1&EABEJJ3k Cartridge



5 0-Nw®

B Em#IIR

-IEB 93°IE##{AA2T] 3k

POSITIVE TYPE 93° BORING AND PROFILE-TURNING

ST00L ONIdWvYa

i 55 2 <1

\
/

\
N ’
-
BS KE ZEHERF $ME SCE BE RE Ak E s
Model LF DCON WF DMIN H KARP Insert KG
SD80-SDUCR-11 45.7 80 57 100 37.5 93° DC**11T3** 0.55
SD80-SDUCL-11 45.7 80 57 100 37.5 93° DC**11T3** 0.55

&

SPARE PARTS

5 Model

ERIRF
Wrench

J1R2E
Sleeve for shim

TIBIRF

Allen key for shim

SD80-SDUCR/L-11

SR21-M4*0.7P*11

T15

ST01-CC11*2.82

SRT-M6-M4*6.9

KEY01-M4

AR RA:

¥DH Insert

SD8OE -
/7 Right/Left
IhgeS Mark

1&EABEJJ3k Cartridge




®
BT A <5 O-N-W

° IEgE 95°E%§ﬁﬁ‘3ﬂ % POSITIVE TYPE 95° BORING AND PROFILE-TURNING

- B
e
5] i s
: 2 !
= z /
— 8 ‘,/ _
\
= \
— \\‘
() N
/S

LF

LREERE  ME

DCON WF
SD80-SVLCR-16T 45 80 57 100 37.5 95° VC**1604** 0.44
SD80-SVLCL-16T 45 80 57 100 37.5 95° VC**1604** 0.44

° §1¢ SPARE PARTS

= MEERF JREE TIRRF
= Model . .
Wrench Sleeve for shim Allen key for shim
SD80-SVLCR/L-16T SR21-M4*0.7P*11 T15 ST01-CC16*2.82 SRT-M6-M4*6.9 KEY01-M4
S5 RA:

SDSO|E - - @
JIE Insert
4 /7 Right/Left

IEERS Mark
1&EABEJJ3k Cartridge



5 0-Nw®

-#8J1J713k  GROOVING HEAD

A
izl

s

A2

=2

= Te

-1 8 B’

a
L
= B
 ©
W,
“ELE)

BS KE ZEREBER e BE - ya)ay =
Model LF DCON WF DMIN w Insert (€]
SD25-GIR/L-2 14 25 17.5 31 2 HG2002 0.45
-3 14 25 17.5 31 3 HG3003 0.45
SD32-GIR/L-2 18 32 20 37 2 HG2002 0.45
-3 18 32 20 37 3 HG3003 0.45
SD40-GIR/L-2 18 40 24 45 2 HG2002 0.45
-3 18 40 25 46 3 HG3003 0.45
-4 18 40 28 49 4 HG4004 0.45

° §1¢ SPARE PARTS

S Model 1242 Screw MEEIRF Wrench EAIHH Locating pin
SD25-GIR/L-2 SR55-M4*0.7P*12 KEY01-M3 D6-5*9
-3 SR55-M4*0.7P*12 KEY01-M3 D6-5*9
SD32-GIR/L-2 SR55-M4*0.7P*12 KEY01-M3 D6-5%11
-3 SR55-M4*0.7P*12 KEY01-M3 D6-5*11
SD40-GIR/L-2 SR55-M4*0.7P*12 KEY01-M3 D6-5*11
-3 SR55-M4*0.7P*12 KEY01-M3 D6-5*11
-4 SR55-M4*0.7P*12 KEY01-M3 D6-5%11

AR RA:

? JIH Insert
A/ Right/Left
ITHEELS Mark

J&fCJI3k Cartridge




BEmHEIIR

-BRET] 3k

THREADING TOOL CARTRIDGE

;|
=
7 _
- o 11 8
L
G
J
LF
RS RZEBEBER thi\ e SEE il 55
Model LF DCON WEF DMIN Insert KG
SD20-SIR/L-16 25 20 14 25 16IR/L 0.04
SD25-SIR/L-16T 25 25 17 32 16IR/L 0.05
SD32-SIR/L-16T 32 32 22 40 16IR/L 0.11
SD32-SIR/L-22T 32 32 22 40 22IR/L 0.11
SD40-SIR/L-16T 32 40 27 50 16IR/L 017
SD40-SIR/L-22T 32 40 27 50 22IR/L 017

&4

SPARE PARTS

MEEURF

TIREE
Sleeve for shim

B

Wrench Locating pin

SD20-SIR/L-16 SR20-M3.5*0.6P*11.5 KEY02-T10 * * D6-5*9
SD25-SIR/L-16T SR20-M3.5*0.6P*11.5 KEY02-T10 All6 SR55-M3*6 D6-5*9
SD32-SIR/L-16T SR20-M3.5*0.6P*11.5 KEY02-T10 Al16 SR55-M3*6 D6-5*11
SD32-SIR/L-22T SR20-M4*0.7P*15 KEY02-T15 Al22 SR55-M3*6 D6-5*11
SD40-SIR/L-16T SR20-M3.5*0.6P*11.5 KEY02-T10 Al16 SR55-M3*6 D6-5*11
SD40-SIR/L-22T SR20-M4*0.7P*15 KEY02-T15 Al22 SR55-M3*6 D6-5*11

MR RA:

T @ TIE Insert
/7 Right/Left

INEELS Mark
&HE2J]3k Cartridge



®
<5 O-N-W 15 A

‘ :F'l:‘&IEt* CENTRE CALIBRATION BLOCK

ST00L ONIdWvYa

i 55 2 <1

\
/

— =

DMIN
1
|
DCON

ZRHEER SEE

DCON DMIN
SDXZ16-25 14 25 28 22 0.05

SDXZ32-60 25 60 62 52 0.45




®
B/ A <5 O-N-W

-Bﬂﬁfﬁﬁﬂﬁgﬁﬁ gféﬁ DAMPING TOOL SLEEVE

A

|
=
E\_ —
. - ]
|
[ B =========== o~
o : o
e
L1l
L
pivR=3 =
Model D D1 d L L1 E5= KG

SD32-16-65 36 32 16 65 5
SD32-20-65 36 32 20 65 5
SD32-20-85 38 32 20 85 5
SD40-16-75 44 40 16 75 5
SD40-20-75 44 40 20 75 5
SD40-20-105 46 40 20 105 5
SD40-25-75 44 40 25 75 5
SD40-25-105 46 40 25 105 5
SD40-32-128 50 40 32 128 5
SD50-20-125 56 50 20 125 5
SD50-25-125 56 50 25 125 5
SD50-32-128 60 50 32 128 5
SD50-40-160 60 50 40 160 5
SD60-32-128 70 60 32 128 5
SD60-40-160 70 60 40 160 5
SD60-50-200 70 60 50 200 5




DAMPING

® PING
<5 O-N-W BEFTA [

'5&&”@ CONVERSION TOOL HOLDER

A

Bﬂg
“— WF — %2
] ne
/ A . B
Hof =—CO=—24
O il
DCON
I
mi LF
i
|
1 O
DCON1

st =3 P 4R
KELF ZREERE  RFEER B WE

DCON DCONT1

SD80-23-40R/L 23 80 40 37.5 70 0.3




>

o
>
=
=
=z
o
j
(=}
o
=
"

2]
=
i
i
7
B

\
/

BEmHEIIR

BRI EE

CONVERSION TOOL HOLDER

DCON1
BS 2 ZEHEER REEER N =
Model RELF DCON DCONT i “hil\EE WF EEKG
SD80-20-20-40R 20 80 40 375 20 0.8
SD80-20-30-40R 20 80 40 375 30 1




DAMPING

® e
<5 O-N-W BEFTA [

'5&*&”@ CONVERSION TOOL HOLDER

>

LF

o
>
=
=
=z
[}
"
o
o
=
wn

i
=
A
i
/]
=1

O

\\ g ~ I RADH
O |
< DCON —
i ) T
LPR
© © © l
— WF —— WF—

SD80-20%20 80 37.5 40 20 38.5 20 77 56 0.7




®
B/ A <5 O-N-W

‘HSK63A-FMHC B i@ #R¥EJIH  Hske3A-FMHC DAMPING MILLING TOOL HOLDER

>

o
>
=
=
=z
[
j
o
o
=
wn

2]
=
i
i
7
1=t

##& Model

HSK63A-FMHC16-150-D37 199 |150| 124 | 26 |17 | 63 |40 | 37 | 16 | 3.2 | 8 M8*1.25P 1
-200-D37 249 200|174 | 26 |17| 63 |40 | 37 | 16 | 3.2 | 8 M8*1.25P 1
-250-D37 299 | 250|224 | 26 (17| 63 |40 |37 |16 | 3.2 | 8 M8*1.25P 1
-300-D37 349 300|274 | 26 |17 | 63 |40 | 37 | 16 | 3.2 | 8 M8*1.25P 1

-350-D37 399 350|324 | 26 |17 |63 | 40 | 37 | 16 | 3.2 8 M8*1.25P 1
-FMHC22-150-D47 200 (150|124 | 26 |17 | 63 | 50 | 47 | 22 | 4.8 | 10 M10*1.25P 1
-200-D47 250 |200 174 | 26 |17 | 63 | 50 | 47 | 22 | 48 | 10 M10*1.25P 1
-250-D47 300 [ 250|224 | 26 |18 | 63 | 50 | 47 | 22 | 48 | 10 M10*1.25P 1
-300-D47 350 |300| 274 | 26 |18 | 63 | 50 | 47 | 22 | 48 | 10 M10*1.25P 1
-350-D47 400 |350(324 | 26 (18| 63 | 50| 47 | 22 | 48 | 10 M10*1.25P 1
-400-D47 450 |400(374 | 26 |18 | 63 | 50 | 47 | 22 | 4.8 | 10 M10*1.25P 1
-450-D47 500 (450|424 | 26 [ 18| 63 | 50 | 47 | 22 | 48 | 10 M10*1.25P

—

-500-D47 550 |500|474 | 26 |18 | 63 | 50 | 47 | 22 | 4.8 | 10 M10*1.25P 1
-FMHC27-200-D60 252 |200| 174 | 26 | 20| 63 - |60 | 27 | 5.8 | 12 M12*1.75P 2
-250-D60 302 | 250|224 | 26 | 20| 63 - |60 | 27 | 5.8 | 12 M12*1.75P 2
-300-D60 352 |300| 274 | 26 | 20| 63 - |60 | 27 | 5.8 | 12 M12*1.75P 2
-350-D60 402 (350|324 | 26 | 20| 63 - |60 | 27 | 5.8 | 12 M12*1.75P 2
-400-D60 452 (400|374 | 26 | 20| 63 - |60 | 27 | 5.8 | 12 M12*1.75P 2
-450-D60 502 |450| 424 | 26 | 20| 63 - |60 | 27 | 5.8 | 12 M12*1.75P 2
-500-D60 552 | 500|474 | 26 | 20| 63 - |60 | 27 | 5.8 | 12 M12*1.75P 2
RIS RA:
WHHE@; Diameter
L1 [E Length (L1)
%[ E& Bore diameter of cutter
IHEEfLS Holder type
HARAZ T Shank size



®
5 O-N-W BB T A

-HSKT100A-FMHC fHR IR IR$EJJ#E  HSK100A-FMHC DAMPING MILLING TOOL HOLDER

>

o
>
=
=
=z
[}
-
o
o
=
wn

i)
e
i
i
7]
=

##& Model
HSK100A-FMHC16-200-D37 267 200 171 29 | 17 100 40 | 37 | 16 | 3.2 8 M8*1.25P

-250-D37 317 250 221 29 |17 | 100 40 | 37 |16 | 3.2 | 8 M8*1.25P

-300-D37 367 300 271 29 |17 | 100 40 | 37 |16 | 3.2 | 8 M8*1.25P

-350-D37 417 350 (32129 |17 | 100 | 40 |37 |16 | 3.2 | 8 M8*1.25P

-FMHC22-200-D47 268 200 (171 29 |18 | 100 50 | 47 | 22 | 48 | 10 M10*1.25P

-250-D47 318 250 | 221 | 29 |18 | 100 50 | 47 | 22 | 48 | 10 M10*1.25P

-300-D47 368 300 | 271 | 29 |18 | 100 50 | 47 | 22 | 48 | 10 M10*1.25P

-350-D47 418 350 | 321 | 29 | 18| 100 50 | 47 | 22 | 4.8 | 10 M10*1.25P

-400-D47 468 400 |371| 29 |18| 100 50 | 47 | 22 | 48 | 10 M10*1.25P

-450-D47 518 450 | 421 | 29 | 18| 100 50 | 47 | 22 | 48 | 10 M10*1.25P

-500-D47 568 500 | 471 | 29 (18| 100 50 | 47 | 22 | 48 | 10 M10*1.25P

-550-D47 618 550 | 521 | 29 (18| 100 50 | 47 | 22 | 48 | 10 M10*1.25P

-600-D47 668 600 | 571 | 29 |18 | 100 50 | 47 | 22 | 48 | 10 M10*1.25P

-650-D47 718 650 | 621 | 29 |18 | 100 50 | 47 | 22 | 48 | 10 M10*1.25P

-700-D47 768 700 | 671 | 29 | 18| 100 50 | 47 | 22 | 4.8 | 10 M10*1.25P

-250-D58 318 250 | 221 29 |18 | 100 62 | 58 | 22 | 4.8 | 10 M10*1.25P

-300-D58 368 300 | 271 29 |18 | 100 62 | 58 | 22 | 4.8 | 10 M10*1.25P

-350-D58 418 350 | 321 29 |18 | 100 62 | 58 | 22 | 4.8 | 10 M10*1.25P

-400-D58 468 400 | 371 | 29 | 18| 100 62 | 58 | 22 | 4.8 | 10 M10*1.25P

-450-D58 518 450 | 421 | 29 |18 | 100 62 | 58 | 22 | 48 | 10 M10*1.25P

-500-D58 568 500 | 471 | 29 [ 18| 100 62 | 58 | 22 | 48 | 10 M10*1.25P

-550-D58 618 550 | 521 | 29 [ 18| 100 62 | 58 | 22 | 48 | 10 M10*1.25P

-600-D58 668 600 |571 | 29 |18 | 100 62 | 58 | 22 | 4.8 | 10 M10*1.25P

-650-D58 718 650 |621 | 29 |18 | 100 62 | 58 | 22 | 4.8 | 10 M10*1.25P

-700-D58 768 700 | 671 | 29 |18 | 100 62 | 58 | 22 | 4.8 | 10 M10*1.25P

A& EA:
%HE?% Diameter
L1 4E Length (L1)
MO E 1R Bore diameter of cutter
IHEE S Holder type
A2 Shank size




®
B/ A <5 O-N-W

-HSKT100A-FMHC [BEfR i ¥R$EJJ#®  Hsk100A-FMHC DAMPING MILLING TOOL HOLDER

A
JmE
z e
=
SR
el K2
=1 L
M 3oy
1 (@)
]

#H& Model

HSK100A-FMHC27-250-D60 320 250 221 | 29 | 20| 100 78 | 60 | 27 | 5.8 | 12 M12*1.75P
-300-D60 370 300 271 | 29 | 20| 100 78 | 60 | 27 | 5.8 | 12 M12*1.75P
-350-D60 420 350 321 | 29 | 20| 100 78 | 60 | 27 | 5.8 | 12 M12*1.75P
-400-D60 470 400 3711 29 | 20| 100 78 | 60 | 27 | 5.8 | 12 M12*1.75P
-450-D60 520 450 | 421 | 29 | 20| 100 78 | 60 | 27 | 5.8 | 12 M12*1.75P
-500-D60 570 500 471 | 29 (20| 100 78 | 60 | 27 | 5.8 | 12 M12*1.75P
-550-D60 620 550 521 | 29 | 20| 100 78 | 60 | 27 | 5.8 | 12 M12*1.75P
-600-D60 670 600 571 | 29 | 20| 100 78 | 60 | 27 | 5.8 | 12 M12*1.75P
-650-D60 720 650 621 | 29 | 20| 100 78 | 60 | 27 | 5.8 | 12 M12*1.75P
-700-D60 770 700 671 | 29 | 20| 100 78 | 60 | 27 | 5.8 | 12 M12*1.75P
-250-D74 320 250 221 | 29 | 20| 100 78 | 74 | 27 | 5.8 | 12 M12*1.75P
-300-D74 370 300 271 | 29 | 20| 100 78 | 74 | 27 | 5.8 | 12 M12*1.75P
-350-D74 420 350 321 | 29 | 20| 100 78 | 74 | 27 | 5.8 | 12 M12*1.75P
-400-D74 470 400 371 | 29 | 20| 100 78 | 74 | 27 | 5.8 | 12 M12*1.75P
-450-D74 520 450 421 | 29 (20| 100 78 | 74 | 27 | 5.8 | 12 M12*1.75P
-500-D74 570 500 | 471 | 29 |20| 100 78 | 74 | 27 | 5.8 | 12 M12*1.75P
-550-D74 620 550 521 | 29 | 20| 100 78 | 74 | 27 | 5.8 | 12 M12*1.75P
-600-D74 670 600 571 | 29 | 20| 100 78 | 74 | 27 | 5.8 | 12 M12*1.75P
-650-D74 720 650 621 | 29 | 20| 100 78 | 74 | 27 | 5.8 | 12 M12*1.75P
-700-D74 770 700 671 | 29 | 20| 100 78 | 74 | 27 | 5.8 | 12 M12*1.75P
-FMHC32-250-D80 322 250 221 | 29 | 22| 100 95 | 80| 32 | 6.8 | 14 M16*2.0P
-300-D80 372 300 271 | 29 | 22| 100 95 | 80| 32 | 6.8 | 14 M16*2.0P
-350-D80 422 350 321 | 29 | 22| 100 95 | 80| 32 | 6.8 | 14 M16*2.0P
-400-D80 472 400 371 | 29 | 22| 100 95 | 80| 32 | 6.8 | 14 M16*2.0P
-450-D80 522 450 | 421 | 29 | 22| 100 95 | 80| 32 | 6.8 | 14 M16*2.0P
-500-D80 572 500 471 | 29 (22| 100 95 | 80| 32 | 6.8 | 14 M16*2.0P
-550-D80 622 550 521 | 29 | 22| 100 95 | 80| 32 | 6.8 | 14 M16*2.0P
-600-D80 672 600 571 | 29 | 22| 100 95 | 80| 32 | 6.8 | 14 M16*2.0P
-FMHC40-300-D90 375 300 271 | 29 | 25| 100 98 | 90 | 40 | 8.3 | 16 M16*2.0P
-350-D90 425 350 321 | 29 | 25| 100 98 | 90 | 40 | 8.3 | 16 M16*2.0P
-400-D90 475 400 371 | 29 | 25| 100 98 | 90 | 40 | 8.3 | 16 M16*2.0P
-450-D90 525 450 | 421 | 29 | 25| 100 98 | 90 | 40 | 8.3 | 16 M16*2.0P
-500-D90 575 500 471 | 29 |25 100 98 | 90 | 40 | 8.3 16 M16*2.0P
-550-D90 625 550 521 | 29 | 25| 100 98 | 90 | 40 | 8.3 | 16 M16*2.0P
-600-D90 675 600 571 | 29 | 25| 100 98 | 90 | 40 | 8.3 | 16 M16*2.0P

AR RAR:

E JIFFER Diameter
L1 ¥ E Length(L1)
$# B2 Bore diameter of cutter

IHEEfLS Holder type
HFRFZ IR Shank size



®
5 O-N-W BB T A

-HSK63A-CKC PHER IR #iR# JJ#  Hske3A-CKC DAMPING BORING TOOL

>

S 55 2 vl
ST100L ONIdWVa

L3 L2

FIG.2

#4& Model
HSK63A-CKC2-150-D25 182 | 150 | 124 26 31 6.62 63 25 14 M5*0.5P 1
-175-D25 207 | 175 | 149 26 31 6.62 63 25 14 M5*0.5P 1
-200-D25 232 | 200 | 174 26 31 6.62 63 25 14 M5*0.5P 1
-200-D32 232 | 200 | 174 26 35 8 63 32 18 M6*0.75P 1
-230-D32 262 | 230 | 204 26 35 8 63 32 18 M6*0.75P 1
-260-D32 292 | 260 | 234 26 35 8 63 32 18 M6*0.75P 1
-300-D32 332 | 300 | 274 | 26 | 35 8 63 | 32 | 18 M6*0.75P | 1
-CKC4-235-D40 267 | 235 | 209 | 26 | 39 | 10 | 63 | 40 | 22 M8*0.75P | 1
-275-D40 307 | 275 | 249 | 26 | 39 | 10 | 63 | 40 | 22 M8*0.75P | 1
-315-D40 347 | 315 | 289 26 39 10 63 40 22 M8*0.75P 1
-350-D40 382 | 350 | 324 26 39 10 63 40 22 M8*0.75P 1
-CKC5-315-D50 347 | 315 | 289 26 45 13 63 50 28 M10*1.0P 1
-350-D50 382 | 350 | 324 26 45 13 63 50 28 M10*1.0P 1
-400-D50 432 | 400 | 374 26 45 13 63 50 28 M10*1.0P 1
-450-D50 482 | 450 | 424 26 45 13 63 50 28 M10*1.0P
-500-D50 532 | 500 | 474 26 45 13 63 50 28 M10*1.0P
-CKC6-295-D63 327 | 295 | 269 26 55 16 63 63 36 M12*1.0P
-350-D63 382 | 350 | 324 26 55 16 63 63 36 M12*1.0P
-400-D63 432 | 400 | 374 26 55 16 63 63 36 M12*1.0P
-450-D63 482 | 450 | 424 26 55 16 63 63 36 M12*1.0P
-500-D63 532 | 500 | 474 26 55 16 63 63 36 M12*1.0P

NININININ ==

MRS ER:

? @DHE Diameter
1K E Length(L1)
#ZO#E Model number of connection
IHEEfLS Holder type

HARAZ T Shank size




®
B/ A <5 O-N-W

-HSK100A-CKC [HRR R #R$E JI#  Hsk100A-CKC DAMPING BORING TOOL

>

FIG. 1
S -

o
>
=
=
=z
[
j
o
o
=
wn

2]
=
i
i
7
1=t

##& Model L5 D D1 d M FIG EEKG
HSK100A-CKC2-160-D25 210 | 160 | 131 | 29 31 | 6.62 | 100 | 25 14 M5*0.5P

-185-D25 235 | 185 | 156 29 31 6.62 | 100 25 14 M5*0.5P

-210-D25 260 | 210 | 181 29 31 6.62 | 100 25 14 M5*0.5P

-250-D25 300 | 250 | 221 29 31 6.62 | 100 25 14 M5*0.5P

-300-D25 350 | 300 | 271 29 31 6.62 | 100 25 14 M5%0.5P

-CKC3-220-D32 270 | 220 | 191 29 35 8 100 32 18 M6*0.75P

-250-D32 300 | 250 | 221 29 35 100 32 18 M6*0.75P

-280-D32 330 | 280 | 251 29 35 100 32 18 M6*0.75P

-300-D32 350 | 300 | 271 29 35 100 32 18 M6*0.75P

-350-D32 400 | 350 | 321 29 35 100 32 18 M6*0.75P

-CKC4-260-D40 310 | 260 | 231 29 39 10 100 | 40 22 M8*0.75P

-300-D40 350 | 300 | 271 29 39 10 100 40 22 M8*0.75P

-340-D40 390 | 340 | 311 29 39 10 100 40 22 M8*0.75P

-400-D40 450 | 400 | 371 29 39 10 100 40 22 M8*0.75P

-CKC5-310-D50 360 | 310 | 281 29 45 13 100 50 28 M10*1.0P

-355-D50 405 | 355 | 326 29 45 13 100 50 28 M10*1.0P

-400-D50 450 | 400 | 371 29 45 13 100 50 28 M10*1.0P

-450-D50 500 | 450 | 421 29 45 13 100 50 28 M10*1.0P

-500-D50 550 | 500 | 471 29 45 13 100 50 28 M10*1.0P

-600-D50 650 | 600 | 571 29 45 13 100 50 28 M10*1.0P

-700-D50 750 | 700 | 671 29 45 13 100 50 28 M10*1.0P

-CKC6-375-D63 425 | 375 | 346 29 55 16 100 63 36 M12*1.0P

-440-D63 490 | 440 | 411 29 55 16 100 63 36 M12*1.0P

-500-D63 550 | 500 | 471 29 55 16 100 63 36 M12*1.0P

-600-D63 650 | 600 | 571 29 55 16 100 63 36 M12*1.0P

-700-D63 750 | 700 | 671 29 55 16 100 63 36 M12*1.0P

-CKC7-450-D100 500 | 450 | 421 29 60 | 19.1 | 100 90 46 M20*1.5P

-500-D100 550 | 500 | 471 29 60 | 191 | 100 90 46 M20*1.5P

-600-D100 650 | 600 | 571 29 60 19.1 | 100 90 46 M20*1.5P

NININ(IN|[=m R mmaammmmmmmaamaaaa A a—a]—-

-700-D100 750 | 700 | 671 29 60 19.1 | 100 90 46 M20*1.5P

ARSI ER:

% TJMHFER Diameter
L

1 KE Length (L1)
ZO#E Model number of connection
IHEEfLS Holder type
H$ARAZ T Shank size



®
> O-N-W BB HTA

-HSKT100A-BSTC [HERIREEJIH  Hski100A-BSTC DAMPING BORING TOOL

B
X =
El g "o
©, = )j E
Lo = z
& T MIS N&
= i il o of o
55
L2 &;*m
L1
L
##%& Model 12 D p———
HSK100A-BSTC-400 460 400 371 100
-450 510 450 421 100
-500 560 500 471 100
-600 660 600 571 100
-700 760 700 671 100

AR RA:

E L1 & Length (L1)
IhEE1LS Holder type
SERRFZ T Shank size




®
EERETIA <5 O-N-W

-HSK63A-SNER fHE R IR J] % HSK63A-SNER DAMPING BORING TOOL

A

%l)% D OM{
2 il

= =

g @)

B

L2

L1

#H& Model D2 4555 E Range EE KG
HSK63A-SNER25-180-D38 202 180 154 26 63 38 40 1-16 mm
-230-D38 252 230 204 26 63 38 40 1-16 mm
-280-D38 302 280 254 26 63 38 40 1-16 mm
-330-D38 352 330 304 26 63 38 40 1-16 mm
-380-D38 402 380 354 26 63 38 40 1-16 mm
-430-D38 452 430 404 26 63 38 40 1-16 mm
-500-D38 522 500 474 26 63 38 40 1-16 mm
-SNER32-180-D48 202 180 154 26 63 48 50 2-20 mm
-230-D48 252 230 204 26 63 48 50 2-20 mm
-280-D48 302 280 254 26 63 48 50 2-20 mm
-330-D48 352 330 304 26 63 48 50 2-20 mm
-380-D48 402 380 354 26 63 48 50 2-20 mm
-430-D48 452 430 404 26 63 48 50 2-20 mm
-500-D48 522 500 474 26 63 48 50 2-20 mm
FRA& 5 BA:

E JIFFER Diameter
L1 & Length (L1)
A AE Collect model
&

Jzfth Collect type ER
AL Shank size



®
5 O-N-W BB T A

-HSKT100A-SNER HJEIREHRJJ4E  Hsk100A-SNER DAMPING BORING TOOL

i

D ofr ez

ol E

o ] iy 2
O [=)

L2

L1

##& Model D2 X558 HE Range EFE2KG
HSK100A-SNER25-230-D38 270 230 201 29 100 38 40 1-16 mm
-280-D38 320 280 251 29 100 38 40 1-16 mm
-330-D38 370 330 301 29 100 38 40 1-16 mm
-380-D38 420 380 351 29 100 38 40 1-16 mm
-430-D38 470 430 401 29 100 38 40 1-16 mm
-480-D38 520 480 451 29 100 38 40 1-16 mm
-530-D38 570 530 501 29 100 38 40 1-16 mm
-600-D38 640 600 571 29 100 38 40 1-16 mm
-SNER32-230-D48 270 230 201 29 100 48 50 2-20 mm
-280-D48 320 280 251 29 100 48 50 2-20 mm
-330-D48 370 330 301 29 100 48 50 2-20 mm
-380-D48 420 380 351 29 100 48 50 2-20 mm
-430-D48 470 430 401 29 100 48 50 2-20 mm
-480-D48 520 480 451 29 100 48 50 2-20 mm
-530-D48 570 530 501 29 100 48 50 2-20 mm
-580-D48 620 580 551 29 100 48 50 2-20 mm
-630-D48 670 630 601 29 100 48 50 2-20 mm
-700-D48 740 700 671 29 100 48 50 2-20 mm
-SNER40-230-D58 270 230 201 29 100 58 63 2-26 mm
-280-D58 320 280 251 29 100 58 63 2-26 mm
-330-D58 370 330 301 29 100 58 63 2-26 mm
-380-D58 420 380 351 29 100 58 63 2-26 mm
-430-D58 470 430 401 29 100 58 63 2-26 mm
-480-D58 520 480 451 29 100 58 63 2-26 mm
-530-D58 570 530 501 29 100 58 63 2-26 mm
-580-D58 620 580 551 29 100 58 63 2-26 mm
-630-D58 670 630 601 29 100 58 63 2-26 mm
-700-D58 740 700 671 29 100 58 63 2-26 mm
Rt RA:

? @BHEE Diameter
L1 Length(L1)
fZ%HS Collect model
B FhZE Collect type ER
AL Shank size




5 O0-N-w®

SBT40-FMHC DAMPING MILLING TOOL HOLDER

>

ST00L ONIdWvYa

pibm o iipetaifi

##% Model
SBT40-FMHC16-150-D37 232.4 | 150 | 17 26 | 124 | 63 40 37 16 | 3.2 8 M8*1.25P 1
-200-D37 282.4 | 200 | 17 26 | 174 | 63 40 37 16 | 3.2 8 M8*1.25P 1
-250-D37 332.4 | 250 | 17 26 | 224 | 63 40 37 16 | 3.2 8 M8*1.25P 1
-300-D37 382.4 |300| 17 26 | 274 | 63 40 37 16 | 3.2 8 M8*1.25P 1
-350-D37 432.4 | 350 | 17 26 | 324 | 63 40 37 16 | 3.2 8 M8*1.25P 1
-FMHC22-150-D47 233.4|150| 18 | 26 | 124 | 63 50 | 47 22 | 4.8 | 10 | M10*1.25P 1
-200-D47 283.41200| 18 | 26 | 174 | 63 50 | 47 22 | 4.8 | 10 | M10*1.25P 1
-250-D47 333.4|250| 18 | 26 | 224 | 63 50 | 47 22 | 4.8 | 10 | M10*1.25P 1
-300-D47 383.4|300| 18 | 26 | 274 | 63 50 | 47 22 | 4.8 | 10 | M10*1.25P 1
-350-D47 433.4 |350| 18 | 26 | 324 | 63 50 | 47 22 | 4.8 | 10 | M10*1.25P 1
-400-D47 483.4 |400| 18 | 26 | 374 | 63 50 | 47 22 | 4.8 | 10 | M10*1.25P 1
-450-D47 533.4 | 450 | 18 | 26 | 424 | 63 50 | 47 22 | 4.8 | 10 | M10*1.25P 1
-500-D47 583.4 | 500 | 18 | 26 | 474 | 63 50 | 47 22 | 4.8 | 10 | M10*1.25P 1
-FMHC27-200-D60 283.4|1200| 20 | 26 | 174 | 63 = 60 27 | 5.8 | 12 | M12*1.75P 2
-250-D60 333.4|250| 20 | 26 | 224 | 63 = 60 27 | 5.8 | 12 | M12*1.75P 2
-300-D60 383.4|300| 20 | 26 | 274 | 63 = 60 27 | 5.8 | 12 | M12*1.75P 2
-350-D60 433.4 |350| 20 | 26 | 324 | 63 = 60 27 | 5.8 | 12 | M12*1.75P 2
-400-D60 483.4 | 400 | 20 26 | 374 | 63 - 60 27 | 5.8 | 12 | M12*1.75P 2
-450-D60 533.4 | 450 | 20 26 | 424 | 63 - 60 27 | 5.8 | 12 | M12*1.75P 2
-500-D60 583.4 | 500 | 20 | 26 | 474 | 63 = 60 27 | 5.8 | 12 | M12*1.75P 2

S

SBT40 B - - - E%ﬂ
JIME 1R Diameter
L

1KJE Length (L1)
#Z[OE4& Bore diameter of cutter
IHEEFLS Holder type
HRFZ TR Shank size

A4 Sig



®
5 O-N-W BB T A

-SBT50-FMHC fHE i HR§& J] ik SBT50-FMHC DAMPING MILLING TOOL HOLDER

o
>
=
=
=z
[}
-
o
o
=
wn

i)
e
i
i
7]
=

#M4& Model
SBT50-FMHC16-200-D37 318.8 | 200 | 17 |36.5[163.5| 100 | 40 37 16 | 3.2 8 M8%*1.25P
-250-D37 368.8 | 250 | 17 |36.5|213.5| 100 | 40 37 16 | 3.2 8 M8*1.25P
-300-D37 418.8 | 300 | 17 |36.5|263.5| 100 | 40 37 16 | 3.2 8 M8*1.25P
-350-D37 468.8 | 350 | 17 |36.5|313.5| 100 | 40 37 16 | 3.2 8 M8*1.25P

-FMHC22-200-D47 319.8 | 400 | 18 |36.5|363.5| 100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
-250-D47 369.8 450 | 18 |36.5(413.5| 100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
-300-D47 419.8 | 500 | 18 |36.5|463.5| 100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
-350-D47 469.8 | 350 | 18 [36.5|313.5| 100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
-400-D47 519.8 | 400 | 18 |36.5(363.5| 100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
-450-D47 569.8 | 450 | 18 |36.5/413.5| 100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
-500-D47 619.8 | 500 | 18 |36.5(463.5| 100 | 50 | 47 | 22 | 4.8 | 10 M10*1.25P
-550-D47 669.8 | 550 | 18 |36.5|513.5| 100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
-600-D47 719.8 | 600 | 18 |36.5|563.5| 100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
-650-D47 769.8 | 650 | 18 |36.5(613.5| 100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
-700-D47 819.8 | 700 | 18 |36.5|663.5| 100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
-250-D58 369.8 | 250 | 18 |36.5[213.5| 100 | 62 | 58 | 22 | 4.8 | 10 M10*1.25P
-300-D58 419.8 | 300 | 18 [36.5|263.5| 100 | 62 | 58 | 22 | 48 | 10 M10*1.25P
-350-D58 469.8 | 350 | 18 |36.5|313.5/100| 62 | 58 | 22 | 48 | 10 M10*1.25P
-400-D58 519.8 | 400 | 18 |36.5/363.5| 100 | 62 | 58 | 22 | 48 | 10 M10*1.25P
-450-D58 569.8 | 450 | 18 |36.5(413.5| 100 | 62 | 58 | 22 | 4.8 | 10 M10*1.25P
-500-D58 619.8 | 500 | 18 |36.5|463.5| 100 | 62 | 58 | 22 | 4.8 | 10 M10*1.25P
-550-D58 669.8 | 550 | 18 |36.5(513.5| 100 | 62 | 58 | 22 | 4.8 | 10 M10*1.25P
-600-D58 719.8 | 600 | 18 |36.5(563.5| 100 | 62 | 58 | 22 | 4.8 | 10 M10*1.25P
-650-D58 769.8 | 650 | 18 |36.5|613.5| 100 | 62 | 58 | 22 | 4.8 | 10 M10*1.25P
-700-D58 819.8 | 700 | 18 [36.5|663.5| 100 | 62 | 58 | 22 | 48 | 10 M10*1.25P

A& ER:
? WZJHE’% Diameter
L1 K[E Length(L1)
£ H1Z Bore diameter of cutter
IHEEfLS Holder type
HRAZ T, Shank size




®
B/ A <5 O-N-W

-SBT50-FMHC FBRR iR IRExJI 1R SBT50-FMHC DAMPING MILLING TOOL HOLDER

A
.2
z e
:z:}J'Ei D D1 CO/VV
g i K1, .
o
GQ \,h grom T e o M
= - i % i 0 —Io
.“l ________ 1.'
|=|
L3 L4 L2
L1
L
#1& Model L LT L2 L3 L4 D D1 D2 d K1 K2 M 55 KG

SBT50-FMHC27-250-D58 371.8 | 250 | 20 |36.5/213.5| 100 | 62 | 58 | 27 | 5.8 | 12 M12*1.75P

-300-D58 421.8 | 300 | 20 |36.5(263.5| 100 | 62 | 58 | 27 | 5.8 | 12 M12*1.75P

-350-D58 471.8 | 350 | 20 |36.5/313.5| 100 | 62 | 58 | 27 | 5.8 | 12 M12*1.75P

-400-D58 521.8 | 400 | 20 |36.5|363.5| 100 | 62 | 58 | 27 | 5.8 | 12 M12*1.75P

-450-D58 571.8 | 450 | 20 |36.5|413.5(100 | 62 | 58 | 27 | 5.8 | 12 M12*1.75P

-500-D58 621.8 | 500 | 20 |36.5|463.5| 100 | 62 | 58 | 27 | 5.8 | 12 M12*1.75P

-550-D58 671.8 | 550 | 20 |36.5|513.5| 100 | 62 | 58 | 27 | 5.8 | 12 M12*1.75P

-600-D58 721.8 | 600 | 20 |36.5|563.5| 100 | 62 | 58 | 27 | 5.8 | 12 M12*1.75P

-650-D58 771.8 | 650 | 20 |36.5/613.5| 100 | 62 | 58 | 27 | 5.8 | 12 M12*1.75P

-700-D58 821.8 | 700 | 20 |36.5/663.5| 100 | 62 | 58 | 27 | 5.8 | 12 M12*1.75P

-250-D74 371.8 | 250 | 20 |36.5|213.5(100| 78 | 74 | 27 | 58 | 12 M12*1.75P

-300-D74 421.8 | 300 | 20 |36.5/263.5| 100 | 78 | 74 | 27 | 5.8 | 12 M12*1.75P

-350-D74 471.8 | 350 | 20 |36.5|313.5| 100 | 78 | 74 | 27 | 5.8 | 12 M12*1.75P

-400-D74 521.8 | 400 | 20 |36.5|363.5| 100 | 78 | 74 | 27 | 5.8 | 12 M12*1.75P

-450-D74 571.8 | 450 | 20 |36.5/413.5| 100 | 78 | 74 | 27 | 5.8 | 12 M12*1.75P

-500-D74 621.8 | 500 | 20 |36.5(463.5| 100 | 78 | 74 | 27 | 5.8 | 12 M12*1.75P

-550-D74 671.8 | 550 | 20 |36.5(513.5| 100 | 78 | 74 | 27 | 5.8 | 12 M12*1.75P

-600-D74 721.8 | 600 | 20 |36.5(563.5| 100 | 78 | 74 | 27 | 5.8 | 12 M12*1.75P

-650-D74 771.8 | 650 | 20 |36.5(613.5| 100 | 78 | 74 | 27 | 5.8 | 12 M12*1.75P

-700-D74 821.8 | 700 | 20 |36.5(663.5| 100 | 78 | 74 | 27 | 5.8 | 12 M12*1.75P

-FMHC32-250-D80 373.8 | 250 | 22 |36.5[213.5/100 | 95 | 80 | 32 | 6.8 | 14 M16*2.0P

-300-D80 423.8 |300| 22 [36.5|263.5/ 100 | 95 | 80 | 32 | 6.8 | 14 M16*2.0P

-350-D80 473.8 |350 | 22 [36.5|313.5/ 100 | 95 | 80 | 32 | 6.8 | 14 M16*2.0P

-400-D80 523.8 | 400 | 22 |36.5(363.5|/100| 95 | 80 | 32 | 6.8 | 14 M16*2.0P

-450-D80 573.8 | 450 | 22 |36.5|413.5/ 100 | 95 | 80 | 32 | 6.8 | 14 M16*2.0P

-500-D80 623.8 | 500 | 22 [36.5(463.5|/100| 95 | 80 | 32 | 6.8 | 14 M16*2.0P

-550-D80 673.8 | 550 | 22 |36.5(513.5| 100 | 95 | 80 | 32 | 6.8 | 14 M16*2.0P

-600-D80 723.8 | 600 | 22 |36.5(563.5| 100 | 95 | 80 | 32 | 6.8 | 14 M16*2.0P

-FMHC40-300-D90 426.8 | 300 | 25 |36.5|263.5/100| 98 | 90 | 40 | 8.3 | 16 M16*2.0P

-350-D90 476.8 | 350 | 25 |36.5|313.5/100| 98 | 90 | 40 | 8.3 | 16 M16*2.0P

-400-D90 526.8 | 400 | 25 |36.5/363.5| 100 | 98 | 90 | 40 | 83 | 16 M16*2.0P

-450-D90 576.8 | 450 | 25 |36.5/413.5| 100 | 98 | 90 | 40 | 83 | 16 M16*2.0P

-500-D90 626.8 | 500 | 25 |36.5|463.5| 100 | 98 | 90 | 40 | 8.3 | 16 M16*2.0P

-550-D90 676.8 | 550 | 25 |36.5|513.5/100 | 98 | 90 | 40 | 8.3 | 16 M16*2.0P

-600-D90 726.8 | 600 | 25 |36.5|563.5| 100 | 98 | 90 | 40 | 8.3 | 16 M16*2.0P

AL ER:

? ®DHE1§ Diameter
T L1 Length(L1)
# [ B4 Bore diameter of cutter
BE{XS Holder type
IR Shank size



®
5 O-N-W BB T A

-SBT40-CKC [ERR R IR & J1 1% SBT40-CKC DAMPING BORING TOOL

>

S 55 2 vl
ST100L ONIdWVa

#4& Model
SBT40-CKC2-150-D25 2154 | 150 | 124 | 26 | 6.62 | 31 | 63 | 25 | 14 M5*0.5P
-175-D25 240.4 | 175 | 149 | 26 | 6.62 | 31 | 63 | 25 | 14 M5*0.5P
-200-D25 265.4 200 174 26 6.62 31 63 25 14 M5*0.5P
-CKC3-200-D32 265.4 | 200 | 174 | 26 8 35 | 63 | 32 | 18 M6*0.75P
-230-D32 295.4 | 230 | 204 | 26 8 35 | 63 | 32 | 18 M6*0.75P
-260-D32 325.4 260 234 26 8 35 63 32 18 M6*0.75P
-300-D32 365.4 300 274 26 8 35 63 32 18 M6*0.75P
-CKC4-235-D40 300.4 235 209 26 10 39 63 40 22 M8*0.75P
-275-D40 340.4 | 275 | 249 | 26 | 10 | 39 | 63 | 40 | 22 M8*0.75P
-315-D40 380.4 315 289 26 10 39 63 40 22 M8*0.75P
-350-D40 415.4 350 324 26 10 39 63 40 22 M8*0.75P
-CKC5-310-D50 375.4 310 284 26 13 45 63 50 28 M10*1.0P
-350-D50 415.4 350 324 26 13 45 63 50 28 M10*1.0P
-400-D50 465.4 400 374 26 13 45 63 50 28 M10*1.0P
-450-D50 515.4 450 424 26 13 45 63 50 28 M10*1.0P
-500-D50 565.4 500 474 26 13 45 63 50 28 M10*1.0P
-CKC6-295-D63 360.4 295 269 26 16 55 63 63 36 M12*1.0P
-350-D63 415.4 350 324 26 16 55 63 63 36 M12*1.0P
-400-D63 465.4 400 374 26 16 55 63 63 36 M12*1.0P
-450-D63 515.4 | 450 | 424 | 26 | 16 | 55 | 63 | 63 | 36 M12*1.0P
-500-D63 565.4 500 474 26 16 55 63 63 36 M12*1.0P
S5 RA:

O E Model number of connection
BEXS Face mill holder type
SEFRTZ R, Shank size

SBT40E @
JI#F&E 12 Diameter
L14€E Length (L1)
If




DAMPING

e ®
e e T <5 O-N-W

-SBT50-CKC [HR I #R$EJJH#  sBT50-CKC DAMPING BORING TOOL

A
?% : ol
z R
25 — M N
B e o
L3 L2
L1
L
#HE Model L3 L4 L5 D D1 d M EE KG
SBT50-CKC2-160-D25 261.8 160 123.5 | 36.5 | 6.62 31 100 | 25 14 M5*0.5P
-185-D25 286.8 185 148.5 | 36.5 | 6.62 31 100 | 25 14 M5*0.5P
-210-D25 311.8 210 173.5 | 36.5| 6.62 31 100 | 25 14 M5*0.5P
-250-D25 351.8 250 | 213.5 [ 36.5| 6.62 31 100 | 25 14 M5%0.5P
-300-D25 401.8 300 | 263.5 | 36.5| 6.62 31 100 | 25 14 M5%0.5P
-CKC3-220-D32 321.8 220 183.5 | 36.5 8 35 | 100 | 32 18 M6*0.75P
-250-D32 351.8 250 | 213.5 | 36.5 8 35 | 100 | 32 18 M6*0.75P
-280-D32 381.8 280 | 243.5 | 36.5 8 35 | 100 | 32 18 M6*0.75P
-300-D32 401.8 300 | 263.5 | 36.5 8 35 | 100 | 32 18 M6*0.75P
-350-D32 451.8 350 | 313.5 | 36.5 8 35 | 100 | 32 18 M6*0.75P
-CKC4-260-D40 361.8 260 | 223.5 | 36.5 10 39 | 100 | 40 22 M8%*0.75P
-300-D40 401.8 300 263.5 | 36.5 10 39 | 100 | 40 22 M8*0.75P
-340-D40 441.8 340 | 303.5 | 36.5 10 39 | 100 | 40 22 M8*0.75P
-400-D40 501.8 400 | 363.5 | 36.5 10 39 | 100 | 40 22 M8*0.75P
-CKC5-310-D50 411.8 310 | 273.5 | 36.5 13 45 | 100 | 50 28 M10*1.0P
-355-D50 456.8 355 | 318.5 | 36.5 13 45 | 100 | 50 28 M10*1.0P
-400-D50 501.8 400 363.5 | 36.5 13 45 100 | 50 28 M10*1.0P
-450-D50 551.8 450 413.5 | 36.5 13 45 100 | 50 28 M10*1.0P
-500-D50 601.8 500 | 463.5 | 36.5 13 45 | 100 | 50 28 M10*1.0P
-600-D50 701.8 600 563.5 | 36.5 13 45 | 100 | 50 28 M10*1.0P
-700-D50 801.8 700 | 663.5 | 36.5 13 45 | 100 | 50 28 M10*1.0P
-CKC6-375-D63 476.8 375 | 338.5 | 36.5 16 55 | 100 | 63 36 M12*1.0P
-440-D63 541.8 440 403.5 | 36.5 16 55 100 | 63 36 M12*1.0P
-500-D63 601.8 500 | 463.5 | 36.5 16 55 | 100 | 63 36 M12*1.0P
-600-D63 701.8 600 563.5 | 36.5 16 55 | 100 | 63 36 M12*1.0P
-700-D63 801.8 700 | 663.5 | 36.5 16 55 | 100 | 63 36 M12*1.0P
-CKC7-450-D100 551.8 450 | 413.5 | 36.5| 19.1 60 | 100 | 90 46 M20*1.50P
-500-D100 601.8 500 463.5 | 36.5 | 19.1 60 | 100 | 90 46 M20*1.50P
-600-D100 701.8 600 563.5 | 36.5| 19.1 60 | 100 | 90 46 M20*1.50P
-700-D100 801.8 700 | 663.5 | 36.5| 19.1 60 | 100 | 90 46 M20*1.50P
A& IER:
T ? %HEE Diameter
L1 KE Length (L)
%O E Model number of connection
IHREEFLS Face mill holder type
H$ARAZ T, Shank size



®
<5 O-N-W 15 A

-SBT50-BSTC fHE R #R#E JIH  sBT50-BSTC DAMPING BORING TOOL

i
=
2
B[N o~ 7] 2
| B & E_
10
#M#E Model L2 L3 L4 D BE KG
SBT50-BSTC-400 501.8 400 101.8 36.5 363.5 100
-450 551.8 450 101.8 36.5 413.5 100
-500 601.8 500 101.8 36.5 463.5 100
-600 701.8 600 101.8 36.5 563.5 100
-700 801.8 700 101.8 36.5 663.5 100
AR5 RA:
i L1 KE Length (L1)
IHEEfL S Holder type
HARAZ T, Shank size




®
B/ A <5 O-N-W

-SBT40-SNER [HR R R ] i SBT40-SNER DAMPING ANTI-VIBRATION TOOL HOLDER

>

o
>
=
=
=z
[}
j
o
o
=
0

2]
=
i
i
7
1=t

|
s

#M1& Model J#58E Range FEKG

SBT40-SNER25-180-D38 235.4 180 154 26 63 38 40 1-16 mm
-230-D38 285.4 230 204 26 63 38 40 1-16 mm

-280-D38 335.4 280 254 26 63 38 40 1-16 mm

-330-D38 385.4 330 304 26 63 38 40 1-16 mm

-380-D38 435.4 380 354 26 63 38 40 1-16 mm

-430-D38 485.4 430 404 26 63 38 40 1-16 mm

-500-D38 555.4 500 474 26 63 38 40 1-16 mm
-SNER32-180-D48 235.4 180 154 26 63 48 50 2-20 mm
-230-D48 285.4 230 204 26 63 48 50 2-20 mm

-280-D48 335.4 280 254 26 63 48 50 2-20 mm

-330-D48 385.4 330 304 26 63 48 50 2-20 mm

-380-D48 435.4 380 354 26 63 48 50 2-20 mm

-430-D48 485.4 430 404 26 63 48 50 2-20 mm

-500-D48 555.4 500 474 26 63 48 50 2-20 mm

FA& 5 ER:
SBT40 - -B8 - - [%ﬂ
T JJ#FE1Z Diameter
L1 K Length (L1)
B A= Collect model
B IeFhZE Collect type ER
AR, Shank size



®
5 O-N-W BB T A

-SBT50-SNER fHE /R R J] 1% SBT50-SNER DAMPING ANTI-VIBRATION TOOL HOLDER

o
>
=
=
=z
[}
-
o
o
=
wn

i)
e
i
i
7]
=

2 1 M

A | IR
[ g
o | L

L3 L2

#HE Model X556 HE Range E= KG
SBT50-SNER25-230-D38 321.8 230 193.5 36.5 100 38 40 1-16 mm
-280-D38 371.8 280 243.5 36.5 100 38 40 1-16 mm
-330-D38 421.8 330 293.5 36.5 100 38 40 1-16 mm
-380-D38 471.8 380 343.5 36.5 100 38 40 1-16 mm
-430-D38 521.8 430 393.5 36.5 100 38 40 1-16 mm
-480-D38 571.8 480 443.5 36.5 100 38 40 1-16 mm
-530-D38 621.8 530 493.5 36.5 100 38 40 1-16 mm
-600-D38 691.8 600 563.5 36.5 100 38 40 1-16 mm
-SNER32-230-D48 321.8 230 193.5 36.5 100 48 50 2-20 mm
-280-D48 371.8 280 243.5 36.5 100 48 50 2-20 mm
-330-D48 421.8 330 293.5 36.5 100 48 50 2-20 mm
-380-D48 471.8 380 343.5 36.5 100 48 50 2-20 mm
-430-D48 521.8 430 393.5 36.5 100 48 50 2-20 mm
-480-D48 571.8 480 443.5 36.5 100 48 50 2-20 mm
-530-D48 621.8 530 493.5 36.5 100 48 50 2-20 mm
-580-D48 671.8 580 543.5 36.5 100 48 50 2-20 mm
-630-D48 721.8 630 593.5 36.5 100 48 50 2-20 mm
-700-D48 791.8 700 663.5 36.5 100 48 50 2-20 mm
-SNER40-230-D58 321.8 230 193.5 36.5 100 58 63 2-26 mm
-280-D58 371.8 280 243.5 36.5 100 58 63 2-26 mm
-330-D58 421.8 330 293.5 36.5 100 58 63 2-26 mm
-380-D58 471.8 380 343.5 36.5 100 58 63 2-26 mm
-430-D58 521.8 430 393.5 36.5 100 58 63 2-26 mm
-480-D58 571.8 480 443.5 36.5 100 58 63 2-26 mm
-530-D58 621.8 530 493.5 36.5 100 58 63 2-26 mm
-580-D58 671.8 580 543.5 36.5 100 58 63 2-26 mm
-630-D58 721.8 630 593.5 36.5 100 58 63 2-26 mm
-700-D58 791.8 700 663.5 36.5 100 58 63 2-26 mm

g5 RA:

T @HHE@ Diameter
L1 ¥ Length (L1)
A2 Collect model
BB

3 Collect type ER
H$ARAZ T, Shank size




